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1. Add. 7 L
82 +/ & 7
+ 16 s 7
' o
> 7
Th i "4
e sum is g
— e
[
Answer: 98 ¢
= e ——
— e
2. Add. 3
2|
13 )
21 ~+ gy 5G
+ 44 —
The sum is
Answer. 78
,_..Z"'\ ol
3. Find th@et}r’bf the figure. 5 inchs (-'67 ) -
) T 5
(&, 13 inches

The perimeter is ]{1} .:A_ —t 2 CFD 3 !
(Type a whole number.) P - /3 5 "f 13—~
{1) O square inches. - .
) cubic inches. /ﬂf—- / f T (3 + 5 31
O inches. —-f' bl
F= 3 | 5 -
Answers 36 - j G
(1) inches, /"9 = 36\\

ot:i‘}
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4. Find th@metgr of the figure.

The perimeter is l ] o

(Type a whole number.)

(1) O cubic feet.
(O square feet,

hitps://xlitemprod.pearsoncmg.com/api/v | /print/math

12 feet @j

pPzp L€

/7

/[l +17

O feet. /ﬂ < 273 R
Answers 23
(1) feet.
e

T

5. Find the €meter{3f the figure. 6 inches
rd

® 9

The perimeteris | ' (1)
(Type a whole number.)

(1) O inches.
(O square inches.
() cubic inches.

Answers 30

(1) inches.

[

P= AtBcC +D

9
Rectangle |9 inches @ f___- / )'—’f' ﬁ"% 4 l)"
: - 2
- yZ ¢ 7 G l);

- gt
2y

of 29
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6. Find the@etgyoﬂhe figure. Jimm@ P HMAL5FC P ¢
| . v © = Py Yr & o+ <
@ 4 inches Syuare /z i o ft’% S/ 5

Y0 — P
The perimeter is | ' ____.C// // - /é s d 7

(1.

{Type a whole number.) : +
r=re —
{(1) ) cubic inches. ('L,
() inches.
) square inches. / ,
Answers 16 — (.{
(1) inches. / G
~— e ———— C o S s

7. Findthe @t@r of the figure. 9 yards --}
/ @ L yard 4 yards @

/%A+ﬂfc+pT£+F‘
(& 6 yards 6 yards @ ,'. g

L]
B :G'f{"{‘q’fcf—fé _{‘1 | ——
The perimeter is | el | ﬁ‘ [6 ,,.{m.(.-f(; -7 i}—

(Type a whole number.)
20 16 € 7 174¢ )

k4

(1) O yards. P <
) square yards, /7 < 2.6 —¢ 1 16 26
() cubic yards. — 4 4 i:)__
WY, 22 33
Answers 33 (_ﬂ/:/// 20
(1) yards. 3‘___6__
/ 2

8. Whati 285@!: 347
: atis creased by 347

285 increased by 34 is -

Answer: 319

_____-_-_-_‘_-_-_-h_‘_'_'_‘—-—-—

of 29 4/24/2019. 4:02 PM
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9. A permanent game board is made of granite. Find the{perimeter.of t squ‘a}playing board.

@}/ ql 91 it (C:)

/:A“fﬂ"?"(’fp ) TI

A=A+ 7/ Ll
Theperimeteris[ ](1)___1_‘9:__. / é?z T?I’F?f {J’Z’
(1} O cubic feet. p:'_' 27 FS '—('?{ ffa

(O square feet. j;u
O feet. /ﬂi&/‘/// A 7 3
213

Answers 364

91
(1) feet. —_—
= = 364
10.
The table on the right.shows the number of padicular stores The Top States for the Stores
in ten states.@'ihich state has the most stores? State Number of Stores
e —
A 34
State (1) has the most stores. c 72
D 42
E 75
F 62
G 55
H 77
K 49
L 108
MOA OE OK
OB OF OL
Oc Oe6
ODb OH
Answer: (1) B
1. Find the difference. / Z
12-12 2z
12-12=|
Answer; 0

\‘H—-‘_ \

of 29 4/24/2019, 4:02 PM
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12.( s_u_igtzap S’j"

55
- 32 — } Z
I
The difference is | . 2 3
Answer: 23
= — E—— E— -
13. (Subtract,/
s
- 33
The difference is | .
Answer: 38
—_— —_-—_%_T—'——-——__
e .IC A ——
14, W Check by adding. Che 77
90 %
-77 /_(-)
The difference is : C)
Answer: 13

15, Eb)tr/; 6 from 7. 7
The difference is l § — 6

Answer: 1 q)
s, - . . =
16. Find th@of 88 and 46. ¥y

The difference is [ - V 6

Answer: 42 ‘/' 2‘
— g ———y el _— I J ....EJT‘? _“\\
17, (Su_stci 38 rorijO. 5 78
The difference is . - 3 f
T
Answer: 52 S 9\ ™

50f 29 ——— 4/24/2019.4:02 PM
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18. Find 52 @@1 from 100, S,_ z

The difference is ! . —
P

e . e S
19. Evelyn Abrams is reading a 646-page book. If she has jus{.tj]inished reading page&?ﬂho@e paﬁ_ es must she

read to finish the book? 3 /g 9/ é
pages o { 7 /

https://xlitemprod.pearsoncmg.com/api/v 1 /print/math
p prod.p g P P

Answer: 48

Answer: 475

—
-

20. The peak of Mt. A is 20,730 feet above
sea level. The peak of Mt. B is 12,242 feet

above sea level. Howdnuch higherss the
peak of Mt. A than Mt. B?

The peak of Mt. A is I feet higher than the peak of Mt. B.

Answer: 8488

— =2 —

21. Suppose one dam is 583 feet high. Another dam is 568 feet high. How fnuch t . s the first dam than the second dam?

| e 7
The first dam is "feet taller tHan the second dam. ’(- 3
— 569

FE—

Answer: 14 @
-‘_-_‘_-_ - N ——— = _/

43-36

The answer is |

Answer. 7

e e e —

23. Round 915 to the nearestite "'I > ~ SI n:')v( C 7/ .\x_h

915 rounded to the nearest ten is L /\L/ yun vu( vy },,

Answer: 920

o
6of29 T A242019.4:02PM_
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24. Round 2,264 to the neares@ed. 2 6%~ Swme 6725
The number 2,264 rounded to the nearest hundred is ! ‘C_/ ro ~A h’}ﬂ
Answer: 2,300 7 30 T

T e, . S . : L - ——L =

25. Round 697 to the neare@n/ 6 9‘7 i Son A -7 Z
- !
697 rounded to the nearest ten isf [ A fUV* ,{ V\/)/

Answer: 700 —_
700>
i : — —— 200 : —
26. Round 27,343 to the neare tthoq_sgn( 2_,7 3 b4 ? = S/H...( 34- SF

27,343 rounded io the nearest thousand is ! Q_, : OLJ Aot ruw w’( “ /

Answer: 27,000 2 77 go0vw —=

. e e e e B
Y
27. _A university had a total undergraduate enrollment{of 31 ,946 students in fall 2012. Round this number to h‘.@ne@\,

thousand b
The total undergraduate enrollment of students, rounded to the nearest thousaq 3 l q 7 G

L sima 725
: 00
CBosed  Sher
= ——
@he dlfference@ach number to the nearest hundred, _— ._ .
V‘ 0 A m/ I g Y 57#

1673 > 17 60
- 1392
—= > — /Y00 B
; e Br
The estimated difference is 4 @ ; ———e i
_ o+
Answer: 300
T e s _-_‘_‘__‘__‘_\_'-—u'__\__\_‘_\_‘_‘_‘_\_\_-.-.
29. Use the distributive property to rewrite each expression. _
Yr3-+6) =
4{3+6) —_—
g ’ =
Shm— 73T D
(Type an expression. Do not simplify.)
Answer 4+3+4-6
= ———
_'-_-_-___-__———-_

Tof29 4/24/2019, 4:02 PM
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J— G 7

SOW: 62 X
i fae

xsg %_ ’ 9/\
Answer: 310
.---—""'_""_.'_m_.f____ . o f £ —_—
31, C)’) g3
Multiply. 932 G
932 > ° J/—*’_"
x 6 ) 5‘{ q 1 J
Answer: 5592
.\ ’
“n@w/ 73 S =
i X 67
\ S— ’07 (_/
The product is | . lf 37

e
Answer. 4964 @

9 meters :.

33, ) 1Y
Find Ué;g and the @;«:f the rectangle shown to the right. == e
(L B « {

— 1iQ z
s
The area of the rectangie is (1) ( 3

The perimeter of the rectangle is[ (2) /4 = L n/ I 3
A = (4’)( 9) Y

(1) O square meters. (2) O square meters. "
O meters. O meters. ( ﬁ = 3 6 / (7]
() cubic meters, () cubic meters.
/9 - /4 +73 TC+ P
¢ 51 479 A1
[ 314+ 1 26

¢ (74 9

(7726

fof20 - 2420019, 4:02 PM

Answers 36

(i

(1) square meters.
26

(2) meters.

\y§\
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@ W

34, g .:.THL_ 17 feet 3
Find teirea and tférimeterféf the rectangle shown to the right. /'7
L A ‘)-'U 50 feet @ x’):(___"
o ¢
= 7 ¢
11 ® PTRY,
The area of the rectangle is 4 ) — L u f f_
T LW
The perimeter of the rectangle is @@L | /9_ ~ ( (<)) [/7/ 15’70
(1) O square feet. {(2) ) cubic feet. A,:g [y~ —?’ .-[-/
) feet. ) feet. e G 1
() cubic feet. ") square feet. /.: A_—fﬂ “« D 6 7
Answers 850 ﬂ" 67 ~+5U (7] »—1'/7,—
(1) square feet. - [ R
134 2= |l 7 €17 j;_/
(2) feet. - 3"{ \
S _ : v @_._ ‘_—--"‘"f R l 3 "ﬁ
3. Find the sumjof 29 and 5. o 29
The sum’is | j _:f;_,s:-—'
Answer; 34 @
—————— = = % e — —_— - - p— —
36. Find the@ij:mqgaiofw and 4. 7
The difference is |, (Simplify your answer.) ;j/

Answer: 13 l 3~‘)

37. Find the following quotient, ff 50
5

45-+5

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. S’ (f 5

~ ¢ )
O A. 45+5= (Simplify your answer.)

() B. The answer is undefined. d [

Answer, A 45+5= l 9 {Simplify your answer.)

______'-_‘—-——._______"“_‘_

1ol 29 4/24/2019, 4:02 PM
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38. Find the following @. ,_é’_g =
,6 —

60+6 l 0 )

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

Glco
() A. 60+6= {Simplify your answer.) (6 )
() B. The answer is undefined. O

o _Q)
Answer: A, 60+6= | 10 ] {Simplify your answer.) O re
(¥

— g - - e

= T ——— - - —— = ———

39. Find the following qu]:tient. )
f

.

0 s 8 l\.\_,_,-o-"
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 0
. FiC O
(A, 0+8= (Simplify your answer.) (. 0 )
() B. The quotient is undefined. it

Answer A.0+8= 0 (Simplify your answer.)
S — — /'—_ = ‘. — oo
40. Find the fo[loww ?r

45+1 -7-* =5 ,__:‘\
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. r o
O A, a5+1= (Simplify your answer.}

() B. The answer is undefined.

Answer: A. 45+ 1= l 45 ] (Simplify your answer.)

T,
41. Find the following quotient.) 9‘..7
40 ?‘
o)

40
Select the correct choice below and, if necessary, fill in the answer box to complete your choice, w
O A. 40 o
a0 (Simplify your answer.) d /- C’z-.‘

() B. The answer is undefined.

40

Answer: A, 20 1 (Simplify your answer.)

10 of 29 4/24:2019, 4:02 PM
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=,

42. Find u&;uoti_e_gt/’ Gy
. 3 /_.

45 q
5 5 .
Select the correct choice below and fill in any answer boxes in your choice. f Cf f
OA. 45 &
i
(0 B. The answer is undefined. O / ¢y
45

Answer: A. ? = 9

43. Find the followipd quotient. |

56+7

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A 56+7= {Simplify your answer.)

() B. The answer is undefined.

Answer; A 56 +7 =i 8 | {Simplify your answer.)

44@% following and then check by multiplying.
3ja4

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. (C? )

O A. The quotient does not have a remainder. The quotient is

29
(20

(O €. The quotient is undefinad. O

O B. The quotient has a remainder not equal to 0. The quotient is R

V€

Answer: A. The guotient does not have a remainder. The quotient is 28 :
o )
CAeCE ¢ 7
é————’g /

-—

11 of 29 4/24/2019, 4:02 PM
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45. Divide the following and then check by multiplying. ’(,_(i

48+8 j

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The quotient does not have a remainder. The quotient is . F W

B. The guotient has a remainder not equal te 0. The quotient is R g (f Zf)

C. The quotient is undefined. O I‘f’—h‘

Answer: A. The quotient does not have a remainder. The quotient is 6

46. Divide the following and then check by multiplying.

8)469

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

) A. The quotient does not have a remainder. The quotient is

(O B. The quotient has a remainder not equal to 0. The guotient is R
() €. The quotient is undefined. OK ;’8 ;
y /
Answer: B. The quotient has a remainder not equal to 0. The quotient is 58 R 5
o R o S— —— _ﬂ_‘_
e i O S-7
47. Find the average value of the following list of numbersy_zg?:—f._g_:’_ﬁf / r4 ?I ¢l #fﬁl frf '{? - %S'ﬂ y:
G 7T
20,25, 12,26, 18,19 72 73
[ zo p (
The average value is| . — = ‘{b J 3
G / 1 (1 K
.l
. o /ST (91
Answer: 20 g_dd__ﬁ__,,f y e 4
T —— I — SN \—- ] |
5 T —'_'L:—ti‘:l_—‘;
48. What is the total of 32 and 87 3 L__
The total of 32 and 8 is . —T ‘g =
Answer: 40 2? s-/
_'_._'_'___,__.—-—'_'_ - — - -

2B — - .'3 O A

49. 40 times 30 is what number?

] X 2
40 times 30 is )

Answer: 1200

120f28— 4/24/2019. 4:02 PM
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50. A vacant lot in the shape of a rectangle measures 70 feet by 50 feet.

a. What is thé perimeter of the lot? . I O O
b. What is the-area of the lot? @\' 30 feet 5$Y€

$0

70 feet X
10
a. The perimeter of the lot is H / - A5 C -+ [
- O+ 50479 (e
b. The area of the Iot is 2) / < SO0F70+ 5 4 Lﬁf—
— P [20 TrOF7D 79
(1) O feet. {2) cubic feet.
) square feet. feet. /ﬂ = (70 +77 {72
O cubic feet. square feet. e = 72
f = 259 5 <0
Answers 240
(1) feet, /9 - é— M/ 75
3500 A& (5’0)(70) X, D@Z)
<
(2) square feet, " B, i
e ST APRGsR e e s
51. There are 24 hours in a day. How many hours are in 3 days? Z L‘/ -

There are hours in 3 days.

Answer: 72
"-_-_'_‘—‘—-—-_

The hourly pay is $, an hour,

Answer: 19
S e @O,
53. Six ounces of canned fish in oil has 306 calories. How many calories does 1 ounce have? ’ 3
One ounce of canned fish in oil will have  calories. (Simplify your answer.) 6 3 o &
J ).
Answer: 51 _:,’Q——l'
[ G
54, Find the value of the expression, H _‘;____
e 0 [ev
52 eSS0
Answer: 25

130f29 - 412472019, 4:02 PM
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_
55. -
Find the square root. Z s {25 = ! _g l
y25 | ' bl
Answer: 5 Z 5=
-]

e — e . = ——
56. Simplify.

O EMbA> > 2558

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. Z 5' —-f 9’ (\ Jped

(A, 25+5+8=
(O B. The expression is undefined.

Answer: A, 25+5+8= l 65 ]

—_— _“_'-_"'_"'_‘—-«-...__._________’___-_-_‘_
57. Simplify. / - d)
¢ I~ S :
13 et !
36+6-3 A 36#‘7’ 6 3
Select the correct choice below and, if necessary, fill in the answer bhox to complete your choice, 6 — 3 =

() A. 36+6=-3= 3 e
(__ ]
(O B. The expression is undefined. :

Answer: A, 36 +6-3=| 3 l

58. Simplify. @E_V,\m o ’5 ? ﬂs’_f‘ C7GC} .
3¢3+9-9 e

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. q ,,-(ﬁ' ‘T o 7 £

(A, 3-3+8-9=
() B. The expression is undefined.

Answer. A.3°-3+9-9= 90 ]

—

%

,_\(
,\g\_g
C

14 0f 29 4/24/2019, 4:02 PM
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59. Simplify. /Z 7‘3‘) °( 7—%) =
(2+3)+(7-4) (;), (7~ =

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. (S / > ( 2 ) -

O A, (2+3)+(7-4)=

() B. The expression is undefined.

Answer: A, (2+3)-(7-4)=' 15

60. Write a fraction to represent the shaded part of the figure.

The fraction representing the shaded part is | f

Answer: 7
8

61.

IS

Answer: 7
9

62. Write a fraction to represent the shaded region of the figure.
—

Il

A fraction which represents the figure is ;

Answer: 3
7

150f29 4/24/2019, 4:02 PM
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63. Type a fraction to represent the shaded part. ?: = /!
g 1
777

What is the fraction represented by the shaded part? e
; (Do not simplify.) —’i'_
Answer. 5 / &
12

64,
Write a fraction to represent the shaded region of the figure.  The fraction that represents the shaded region of this figure

15

Answer; 4
9

65. Write a fraction to represent the shaded part of the syringe.

RN 133'
—

The fraction represented by the shaded parts is

Answer; 7
8

66, Write a fraction to represent the shaded part of the distance.

el e

1 whole mile

The fraction thg-: represents the shaded part is i : P4

Answer; 3
8

16 of 29 4/24/2019, 4:02 PM
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67. Draw and shade a part of a diagram to represent the fraction,

4
7 of a diagram o

Which shaded region below represents -7

68. Draw and shade a part of a figure to represent the fraction.

Eff
g of afigure

5 —
Which shaded region below represents E?

PRI

Answer:

17 0f 29 4/24/2019, 4:02 PM
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69.
Each of the objects shown to the right is divided into equal Choose the correct answer below.

sections and part of each object is shaded. The shaded part

is a fraction of the whole object. O A. O B.

4
Which object represents the fraction E?

!

) C.
) E.
None of the above.
Answer:
D.
— B .
e — e e — ———

Each of the figures shown to the right is divided into equal Choose the correct answer below.
sections, and part of each figure is shaded. The shaded part
is a fraction of the whole figure. O A,

10
Which figure represents the fraction ~1—0?

() E. None of the above.

Answer:

YRNRAARTER

71. In an American Sign Language (A.S.L) class of 29 students, 18 are hearing impaired. What fraction of the students are
hearing impaired?

The fraction of the students that are hearing impaired is l |

Answer; 18
29

[80f29 4/24/2019, 4:02 PM
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72, Of 69 cars making up a freight train, 52 are boxcars.

A. How many of the cars ar xcars? &

B. What fraction of the cars arenof boxcars? <<=

A. The number of cars that are nof boxcars is

B. The fraction of the cars that are not boxcars is

Answers 17

17
65

https://xlitemprod.pearsoncmg.com/api/v1/print/math

64
.-—‘5’2 _
— o

T s

A |

—

73. The Atlantic hurricane season of this year rewrote the record books. There wefe 22 tropical stormg, 13 of which turned into

hurricanes. What fraction of this season's Atlantic tropical storms escalated t

The fraction of tropical storms which escalated to hurricanes is

Answer: E
22

e, —

74. There a@dﬁys in the month of October. What fraction of the month does 13 ga}ys represent?

13 days represenis of the manth of Qctober.

Answer: 13
31

75. Represent the shaded part of the@s with
A, an improper fraction and i

B. a mixed number.

A. The improper fraction which represents the shaded area of the figure group is l ;

|

B. The mixed number which represents the shaded area of the figure group is l

Answers 9
4

21
4

19075 —

N
canes? -

—
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76. Represent the shaded part of the group of triangles with
A. an improper fraction and
B. a mixed number.

AAA o

A. The improper fraction that represents the shaded area of the figure group is ' Cf %‘;’;

B. The mixed number that represents the shaded area of the figure group is . _g /
- ' : - (-'
Answers 9 g g
— J ; if o
v 2 3

4

—————: = . —
— —_—

77. Write the sifaded area in the figure as a} an improper fraction and b) a mixed

number, ||||||”|||||I

a) The shaded area as an improper fraction is

b} The shaded area as a mixed number is ] :

Answers 11 J
6
X [
L (e
M;_JCJL:’ Y € "

200f 29 4/24/2019, 4:02 PM
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78. Represent the shaded area in the figure group with
A. an improper fraction and
B. a mixed number.

A. The improper fraction is . (Type an improper fraction. Do not reduce.)

B. The mixed number is . {Type a mixed number. Do not reduce.)

Answers 5 K
3

12
3

o

'h-.._\_\_‘_

79.  Write the shaded area in the figure group as (a) a mixed number
and (b) an improper fraction,

a. Write the shaded area as a mixed number.

{Type a mixed number. Do not simplify.)

b. Write the shaded area as an improper fraction.

] (Type an improper fraction. Do not simplify.)

Answers 1

)

' of29

4/24:2019, 4:02 PM



MATHI23FIESTADI10]-Alfredo Alvarez htips://xlitemprod.pearsoncmg.com/api/v] /print/math
80. Represent the shaded part of the group of figures with (a) an
improper fraction and {b) a mixed number.

a. Write the shaded area as an improper fraclion.

| Z

h. Write the shaded area as a mixed number.

]
OF /7

2
81.
What fraction correctly represents the shaded part of the Choose the correct answer below.
figure below?
16
on X /
7 —
9
B. —
oe % /
— “\
e —
u
7
D. =
O 9
Answer 7
16 — =
———— o ﬂ””’“") Z 3 f 7 “/‘ 13 ..

82. Find th& Enme factonzatusa of the following number. Write any repeated factors using exponents.

: (7= 2 L 2.7 ié_ff
. ——o L)

The prime factorization of 8 is
2(L

Answer: 53

83. Find the@ctorizaﬁ'ﬁ@of the number 15. Write any repeated factors using exponents. 2/ )Y /3 o R

The prime factorization is . }) C / g

—.

Answer: 5+3 /

20f29 T — i 41242019, 4:02 PM
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84. Find th& prime factorization-of the following number. Write any pgpeated factors usmg exponents

//MLI
40 <7,

'y
The prime factorization of 40 is : @ (& Z 2.
’ — LC__-J

Answer: 23 . 5 LC{O Q—‘/OK

Afpec= (;\ . -
ﬁf’“%‘ J iﬁf 7 o

Find the measure of Zx in the figure. [ 3 / 37 O
—( 353
-‘__________—J
\)
(Note: Figure is not drawn to scale.) 4—

The measure of Zx is %

Answer: 47

e AT AT o~ S
86. Find the measure of £x ing—;&xg‘?_ q 3

/4'()17“4 —F A ij_L P

AS & /C) Lf <7 (Note: Figure is not drawn to scale.)
The measure of Zxis P, /KO
- — /64
o Answer; 16 | o @\] - -
87.  Find the measure of Zx in the figure. {uﬁ"‘mé\_ q_o’)
o
: KL S

2 - 4—;(:/@_?__ “5
The measure of £Lx is i

Answer: 65 I X/@

—
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88. ldentify the solid shown to the right. <= »

Choose the correct answer below.

O cube, e
(& orlinder__)

) pyramid

) cone

() sphere

O rectangular solid

Answer: cylinder

- — - . e e

89. Identify the solid shown to the right.

g LT e Lress
Choose the correct answer below.
) cube
) cone
() sphere
O cylinder
7 rectangular solid
O pyramid
Answer: rectangular solid
1‘_'—‘—-_
=
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80. Identify the solid shown to the right.

Choose the correct answer below.

(O sphere
{ (& cone }
O‘ cylinder
)  pyramid
(O rectangular solid
) cube

Answer. cone

e

91. Identify the basic shape of the item shown to the right.

The basic shape of the item shownis a (1)

(1) O sphere,
) rectangular solid.
) cube.

( 4~ pyramid. }
g

Answer: (1) pyramid.

250f29 4/24/2019, 4:02 PM
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82. Findthe \rimeter *e Ioggm('r@ﬁgure. / — /1"( ﬂ “C D /;7’
r P=Tri5~F 7405 Zﬁ,_;
7ft; Rectangle ’{@ /ﬂ: 2L €7 715 z
® i o 29+4(s 12
& <
Perimeter = 1) ,2/{'\
(MmO 2,67_’
O sq.ft __(./L_\E_’
Answers 44 Q{ (-/
{1 ft
93, Findthe@gfﬂg._fol@; figure, ,47— A—fﬂ’(’C"FD
@ (%l;llelogm%cm @ - /ﬂ: ‘S"—f/(‘f 55
Y el + 5 [s~
15¢em @ // Z’O S__
Perimeter = ! :' 2 5 (3 "fL /§_
(1) O em J é/o 7 0
5g. cm
Answers 40 Z/(D
(.1)cm ,(. S/_-
_ 2
f
¢ 5
+/ S
S
y o
R — B \

260f29
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94. Find the @of the following figure.
% in.

1 in, @)

7in,

@/

The perimeter is l ’ () )

(1 O in.
O sq.in,

Answers 27

(1yin.

https://xlitemprod.pearsoncmg.com/api/v 1/print/math

e A1 C 7
S TU+ U s

/ﬂ—- /G'f(/ /¢

. —rmaan —=—

—_—

95. Find theperimeter of the figure shown to the right.

/ A3 +C— D~ E

/_ (0F1>+I(# [+ 1F
Pz 23 wl+ic ¢ /3
p= 357N~ r§
Pz “%s~ /%
Perimeter = [—— [(p— |

5

(1 O
O sq. .

Answers 63
(1) ft.

/0
~+t7
273

0 %

,-,-"—'*-;.‘_' ——— o 35 -
96. Find t@erbf the (egular polygorshown ta the right.

The perimeter is [ | [y | | Y S

(1} O centimeters.

@ 9 | 3% em @

AR ACD T
¢ 39-¢ 377 3739 7
7839739 ’("__3(?7

f

() square centimeters, f 7

=

Answers 156
(1) centimeters.

\ 33
fffﬁ 56—

27 0f29
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§7. Find thfth@o the right. g) @ w2 ® go
; 40
f = A5 +Dte~+F ¢ wen €) Fu 4
2 YOTFYor LAYy =2 YOG s @ Y
The perimeter is (| @
/ra Zo t ot Yot YTy {22 [6o
(1) ) square centimeters. —~ Y > (€0 %=
() centimeters. ﬂ = / 2o Vd'fc'_’) 4 Y2 7.,
Answers 240 ﬂ - 2209 F Yo _fj_’)
(1) centimeters. m‘*’,\ "2‘:;_9
L3 S — _-—-—'_'_'_'_'_F = —_—
98. If a playing field is 45 yards wide and 105 yards long, what is the perimeter?
i ABEC D 3 < s ©
P E5A 05+ YT @ {
e 155 ¢ G5 Ao S, /
Perimeter = (1) ¥s~ / 94
B U T~ —_—
P [ G5 7 Lo +/ [ 9 +/9 €
(1) yd

’ D o
sq. yd @ L5 :t/’:i‘; 30U

Answers 300

(1) yd
R = ‘-@3 @ :
99. Find tEe'Ei}s.t-érlqe_arou;\d th@ ;éﬁé@shown to the right. 3L oL 2/:%—
@ g
31_,@
The distance around the figure is R N 1) 61
— € n = i
(1) O sqyd. pP=AA5cC+* D& /c'/(o
O yd. /Egi,f’ﬁz_/f’)’L-f-?L—fBL

6

Answers 160 /2 G Y 3L t5L+3C ,j,}z_
(1} yd.

/1/: q*___é —~ 2 2 €2 ¢ 1{’3

1Zac _/L“K T 3T [E;ji
. Jee vk

fe lee \

e
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100. Find }He volume of the solid.
f.

e

The volume of the solid is [ ]

(Simplify your answer.)

(1} O square inches,
) inches.
() cubic inches.

Answers 64

{1) cubic inches. < '.
e ey T U _

hitps://xlitemprod.pearsoncmg.com/api/v l/print/math

101. Find the volume of the solid.__-\

.
- -

The volume of the solid isl l [ )

(Simplify your answer.)

(1) O square centimeters. (/ :L Lo / £

) centimeteres.

- -
) cubic centimeters. V N Sw o § vy

Answers 125

(1) cubic centimeters. 6 f= 2 e 5/—
Y=l
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